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Course Calculus I1

Date © January 31st, 2020
Time . 08:45-11.45
Please provide motivation for all your answers and calculations. The use of electronic
devices is not allowed.

L. Let S, be given by
S=3SviTm
T
k=1

(a) Interpret S, as a Riemann sum of a function flz)

on the interval [0, 2.
(b) Now calculate

lim S,,.

n—oo

2. (a) Let the function f(z)

be given by f (z)
by

= , and let the domain D c R be given

DI{.’EER]USISI or 2<z<3}

Determine the average value f of f (z) on D.
(b) Does there exist an T € D sucht that Mz = £

(c) Does your answer to 2b contradict the m

ean value theorem for integrals?
(d) Let E be defined as

E={(z,y,2) |1§r2+92+3254}

Calculate the volume of E.

(e) Calculate the average value of f(z,y, z) =z /oE - ¥’ + 22 0n E.
3. Let the spatial curve 7 be given by
2
v = {(tcos(t),rsin(t). gt\/ix/f) [0<é< 1}.
Calculate the length of .
4. Let f(z) = cos(2x) sin(z?).

(a) Determine the Taylor Series appoximation of f(z)

(b) Determine the radius of convergence of the po

5. Let f(z,y,z) be given by

about r = () of degree six.
werseries.

f(@,y,2) = 2y2
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